@ x+y

@ x-2

® x-y+2

@ x+y+2



AaPx—a®-x+1S AT

&

=t

2.

ol
S
A
=
IS

o
K
A
o
<
Y

© a+1

O x-1

@ x?+1
® x-2

@ a-1

® 0O, ® 0,606

© 006
@ ®, O

® ©,e,0



T Fd-ad’-—a+19 A7t old A2 nE = A

@ a*+1 © a*-1 © a+1
® a-1 @ a2 +1
@ 17 @ 2 7 ® 3 7 @ 4 7 G %



4.

X = 2x—y? 4+ 2y & Rk EY
(x+ay)(x—by +c) 7F HAk ol a + b+ ¢ 2] G227



5. ta dgEs] A o8 A4S B A=Y (Fa>0,b>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



el
ol

No

Fol xy ol Aot el

Sk

=2y 4 )% - 98 AR

6.

Stofet,

:I]_



7. xy-3y+x-3 2 Aot (ax+b)(my+n) @, a+b+m+n
o] k& Foh?

D 1 @ 2 3 0 @ -1 B -2



8.

o2 & 13 +y—x—x%y 9 A7) ofd

D x%-y

@ x+1




9.

2= dx -9 + 4 ASRast A8H AR

=2t (P, a>0,b>0)

@ acx? + (ad + bc)x + bd = (ax + b)(cx + d)
© x*+(a+b)x+ab= (x+a)(x+b)

© a2 -2ab+ b2 = (a - b)>

@ a®-b*=(a+b)(a-b)

©® a®+ 2ab + b = (a + b)?

=
ct
YR

=%



]_0 D]' - - _/]
O 2 2 o] o
) 4x 9 1
y
—6‘ 30V T
—925 12~7

]_

I‘IF

o)
filo

4

fid




11.

a?>-b*-2b-1°la® AF7F1 F

W, AR Fe?

® 2(a-b)
@ 2a



4x% — 24xy + 36y — 16

12.



13, 4x? —dxy+y? +4x-2y B A5RHFAAY (2x - y) (Ax - By + C)
7F = AT A+ B+ C 9] & Aol

L g A+BrC=



14. o5 5 x%? - Xy —xy? + xy 9 Q4=

@ x-1 @ x+1 ® y+1 @ x+vy ® x-y



15, 49x% -9+ 1wy +y* & A2 AEY (ax + y 4 b)(ax + cy + 3)
7F = 3Aek. oldl, <4 a, b, ¢ ol W5k a - b + ¢ O] Fh= TSP

@D 2 ® 4 3 6 @ 11 B 16



